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carry out national population census 2. 1 I O [J [0 havea
population of I 3. 00 I OO O narrow the generation gap4. U [ [
000000 payattention to the problem of an aging
population5. U 0O 0O O O O O O conduct a survey on sex and
marriage6. U O U O O O O display a marked difference7. U U [
OO0 0O reflect people’ s private lives8. L1 [ [ [ [T 10%
account for 10% of the total population9. O O O 0O 0O O 0O O O O
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transition to the modern population reproduction pattern
characterized by a low birth rate[J low death rate and low natural
growthrate10. J O O O 0O O lead anisolated lifell. O OO O 0O O O
[1 O the population of urban residentsrose by J 12. 0 0O O O O [
[1 ask for her parents’ opinion13. U 0O O O 0O OO O O O result
In a different ideology and concept14. [0 [0 O U O 0O O pin great
hopes on their children15. 00 0O O O O O O O O enjoy good living
condition16. [0 [J [0 [ earn their pocket moneyl7. [ I 00 I 00 [
[0 O 0O undermine the authority of the older generation18. [J [J [J
(1 O disobey their parents19. O U 0O O O O O O . the death rate of
the populationdecrease from 0 toJ20. U 00O 0O OO0 OO
[1 the people’ s life-expectancy on average is raised 100Test [ [
Jodododododouououooood
www.100test.com



